2022 F ETRAEMA (KT EmA) OZMBGHRERNEER

3A%
ZERBESTHRE R 1 Sv/h]
M=H BE | ZR [ wrm WER e
1cm 50cm 1m
3H6H A Bh 0.05 0.05 0.04
3A208 A Eh 0.04 0.05 0.05
2A%
ZEREBEHRER[ 1 Sv/h]
AER BE | RR I wrm WEE WEE
1em 50cm im
2A6R A Bh 0.04 0.04 0.05
2H208 A BEh 0.04 0.05 0.04
1A%
TR SR E [ 1 Sv/h]
RER 74=] ES b2 s e
1cm 50cm 1m
14108 X BEh 0.04 0.04 0.04
18238 A 2 0.04 0.05 0.05
12R%
ZERIBEHRE R 1 Sv/h]
HER BE | RR I wrm WEE WEE
Tem 50cm m
12858 A 2 0.04 0.04 0.05
128198 A Bh 0.04 0.04 0.04
1A%
ZERIBESTHREREL 1 Sv/h]
AER =] ES 8 i b s s
1em 50cm 1m
11878 A Y 0.05 0.05 0.06
118218 A 2 0.04 0.04 0.05
108 %
ZERIBETHREER 1 Sv/h]
AER BE | RR ] wrm WiE WiE
Tem 50cm 1m
10838 A Bh 0.04 0.04 0.04
108178 A Y 0.03 0.05 0.04
9/
R STHER B 1 Sv/h]
RER ] S WLE LA LA
1em 50cm im
9A5A A Eh 0.04 0.04 0.05
98208 x FUY 0.04 0.05 0.05
8A%
ZERBETHREE 1 Sv/h]
M=R BE | ZR | wrm WEE WiE
1cm 50cm 1m
8H1H A Bh 0.04 0.04 0.05
8A 228 A EY 0.04 0.04 0.04




1857

LRI SR E [ 1 Sv/h]
M=H BE | XR [ wrm WER e
1cm 50cm 1m
7R88 E EEh 0.04 0.05 0.04
78258 A EEh 0.03 0.04 0.05
6R %
ZERARSTR B[ 1 Sv/h]
AER BE | RR I wrm LS LS
1om 50cm im
6A8H kK ZY 0.04 0.04 0.05
68218 X 2 0.04 0.05 0.04
5A%
oA SR B 1 Sv/h]
RER 74=] ES b2 s s
1cm 50cm 1m
5A28 A BEh 0.04 0.04 0.04
58178 X zY 0.04 0.04 0.05
5A31H X £ 0.04 0.04 0.04
4A %5
ZERASH R 1 Sv/h)
AER =) S WrE BLE BLE
1em 50cm 1m
4A58 X ZY 0.04 0.04 0.05
4H198 x zY 0.04 0.04 0.04




